Math 4329

‘\—\oMe,uoaf\\l extewsionN il Thu(Sdal-‘ 02./‘3

OO = Lo% (x+2)
s d“k“ \7,\00 albouwt O
g -hed | < 671
(™ £7(ed

?
[\t

eyt —> T
n=0 feny= Leg (L) j
/ NnN=0

Q= L
(‘: X4
\.A X\M\

Q\&\) {
o

- 05¢ X %

~0-§5x< 0§



NG
Cy= 05 ? c,:0-S ? e =0 7

O_S,V\*\ (a/s)n{-\ < (o-q

/—’
o

2 (<) {-(ﬂ z QC”x ~60C S ¥X50-S

P = €FF x A (eo8x)  chainfule

ax
- e (—SmLx)
\Lo-neo| =5 F e
L Cos¢

( beodc, .s.'-asmc,()e
Cx= ﬁl3 ? C= “(\\ Cy = Wg

(int\)

CosX



(osa

\owwea| = | Te - appocnels valuee |
TMV?\:_V.‘,— 4,00 Ren ‘——jxs eror= 4 km 41/ exor

Xx S M
opprok™m valve
K}} e 2 ke L Xg exvor = 4 kewr SOZ

b

! \
‘—\kw\ o'rp‘VaM

\Tm\lm\ve ~ Appwoxr.Voalwe \

Relakwe QUWA =

\ Tue Volve ‘

(.-CV\d Q(‘ chap 2 S\\.dﬂ-&)
Siquifuard S

X~ invercepts
flo =oxb
f0O =0

5 x="ola x;




2 RRY2a
ox*tox ¥ ¢ =0

Roovs X, b * [ br-Yoc— D

Xy__:‘ -b- m;

2

i)

I

=01 — o»ozuumu‘a,

Tiecarive, e ¥wods

QIS x&- x-1

\ —)

Pk 2 numbers sucw Lok
o. ond b

f@) & (L) are opp sigrs

§@) 20 « f(b)<oO ?oém(ﬁe\ntz:%“_
¢ . Pl >0 . 8
") Ve ‘305\\-\\&. b\e,\o&n\'



e = '-_.___ = -V ]
C= atb =-140 = -05 v -
r 5 2 mﬂm{m hﬁfk‘

6
- -0-48433Fs <O

L —
_—

Re?\ace L=0 wh ~0-S.

N‘ew o= —' b - _0.5 “' % "
-\ -0 ~OF§
c = ~0S o

Koo = £o®- (ons) 4
~0\¥1 -o0.285 = ~-0032 O

Replace b= _0.€ with -0

New &= —\ b= —0-3S _o‘%qs\
@ i
¢ =-083S= .li(a-ﬂo) N



Howas) =(36) = (om0

. e _,.
= 0322 SO 01325

—e—
== —0AS
Dscard -\ | i

e - Q?él\o"\ = \o-‘b
(&o Yo s\ioles)

MATLAB COMMARND:

>3 SYMS X
= diff [exp(cos(x)))

-exp(cos(x))*sin(x)



